Require: Dataset!, Preprocessingl, D, cmax, Criterion, Variables!, pdfl7 Thetall, Theta2, K, ymin, ymax, ar and Restraints.
Ensure: Dataset contains datasets, Preprocessing is one of "histogram", "Parzen window" or "k-nearest neighbour", 0 <D <
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1, cmax € N, Criterion is one of "AIC", "AIC3", "AIC4", "AICc", "BIC", "CAIC", "HQC", "MDL2", "MDL5", "AWE", "CLC", "ICL",
"PC", "ICL-BIC", "D" or "SSE", Variables are "continuous" or "discrete", pdf is one of "normal", "lognormal", "Weibull",
"gamma", "binomial", "Poisson" or "Dirac", Thetal may contain initial binomial parameters, Theta2 is inactive, K C N, ymin
and ymax may contain minimum and maximum observations, 0 < ar < 1 and Restraints are "loose" or "rigid".
for all v such that v € K do
Preprocessing of observations
I < 1, Dpin < 0.25, klj — kj forj=1tow
repeat
<1, r<n,n +<n
while n;/n > 2Dpin(l — 1) do
Global mode detection
Io 1, w; < ng/n,rj < 0for j=1tow
while Iz < Imax do
Rough component parameter estimation
€ip — 07 €in 07 €lmax 0
for j =1 to v do
€rj < 0, €15 < 0
if k;; > 0or r; >0 then
ey + ki — i f(9;101)V;
if ¢;; > 0 then
€ij < elj/klj’ €lmax < max{slmaxv Elj}7 elp < ep + ey
else
ei; <+ max{ey;, —Tj}, € < e — ey
end if
end if
end for
Dy = eip /N, Eimax ¢ Eimax(1 — ar)
if D; > Dyin/w; then
for all j such that 1 < j <wv and €;; > €;max do
klj < klj — e, Tj < rjtey, N ng—ey
end for
elp < eip/Dy —ny, f < ep/em if ejn > e otherwise f 1
for all j such that 1 < j < v and ¢;; <0 do
ey felj, klj — klj —ej, T <1 tey, ng < ng—ey
end for
wy < ny/n
else
Enhanced component parameter estimation, break
end if
Ip 1o+ 1
end while
First and second moment calculation
cbLirer—m,l«l+1,n+r kj<rjforj=1tov
Stop < ¢ > v or ¢ > cmax, break if Stop = true
end while
Bayes classification of the remaining observations, log likelihood log L, information criterion IC and total of positive
relative deviations D calculation
if IC < IC,pt then
log L — log Lopt, IC — ICopt, ¢ = Copt, W — Wopt, © — Oopt
end if
Stop < Stop or D <D or I1 > Imax, Dmin < ¢Dmin/(c+1), 1 + 11 +1
until Stop = true

end for



